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1. Find the mean deviation about the mean for the
following data:

6,7,10,12, 13, 4, 8, 12

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_05xLUOhzSopa
https://dl.doubtnut.com/l/_AnAFBFGzRp6s

2. Find the mean deviation about the mean for the

following data: 12,3,18,17,4,9,17,19,20,15,8,17,2,3,16,11,3,1,0,5 .

o Watch Video Solution

3. Find the mean deviation about the median for the

following data: 3,9,5,3,12,10,18,4,7,19,21.

o Watch Video Solution

4. Find mean deviation about the mean for the following
data:

X, 2 5 6 8 10 12
f; 2 8 10 7 8 5

o Watch Video Solution



https://dl.doubtnut.com/l/_AnAFBFGzRp6s
https://dl.doubtnut.com/l/_fad68rDNSZQY
https://dl.doubtnut.com/l/_hMcTQckPw3zd

5. Find the variance of the following data:

6,8,10,12,14,16,18,20,22,24

o Watch Video Solution

6. Two plant A and B of a factory show following results

about the number of workers and the wages paid to them.

A B
No. of workers 5000 6000
Average monthly wages T 2500 | ¥ 2500
Variance of distribution 81 100
of wages

In which plant, A or B is there greater variability in

individual wages ?

o Watch Video Solution



https://dl.doubtnut.com/l/_AWOzg8FaKAOJ
https://dl.doubtnut.com/l/_mBUFnrUJ0IuP
https://dl.doubtnut.com/l/_bbz6ImBynkeJ

7. Coefficient of variation of two distributions are 60 and 70
their standard deviations are 21 and 16, respectively . What

are their arithmetic means.

o Watch Video Solution

8. The following values are calculated in respect of heights

and weights of the students of a section of class XI :

Height Weight
Mean 162.6 cm. 52.36 kg.
Variance | 127.69 cm? | 23.1361 kg®

Can we say that the weights show greater variation than

the heights?

o Watch Video Solution



https://dl.doubtnut.com/l/_bbz6ImBynkeJ
https://dl.doubtnut.com/l/_zaZRToqxkgEQ
https://dl.doubtnut.com/l/_pSgPnqz6ZGqR

9. The variance of 20 observations is 5. if each observation
is multiplied by 2, find the new variance of the resulting

observations.

o Watch Video Solution

10. The mean of 5 observations is 4.4 and their variance is
8.24 . If three of the observations are 1,2 and 6, find the

other two observations.

o Watch Video Solution

11. If each of the observation z1, 2, ..., , is increased by
'a', where a is a negative or positive number, show that the

variance remains unchanged.


https://dl.doubtnut.com/l/_pSgPnqz6ZGqR
https://dl.doubtnut.com/l/_J5KUy61n7j17
https://dl.doubtnut.com/l/_A7VFOKn2FXDD

o Watch Video Solution

12. The mean and standard deviation of 100 observation
were calculated as 40 and 5.1, respectively by a student who
took by mistake 50 instead of 40 for one observation .

What are the correct mean standard deviation?

o Watch Video Solution

Exercise 15 1

1. Find the mean deviation about the mean for the data:

4,7,89,10,12,13,17

o Watch Video Solution



https://dl.doubtnut.com/l/_A7VFOKn2FXDD
https://dl.doubtnut.com/l/_e2fWfyJnlnLU
https://dl.doubtnut.com/l/_QH2rfRiokxQP

2. Find the mean deviation about the mean for the data :

38,70,48,40,42,55,63,46,54,44

o Watch Video Solution

3. Find the mean deviation about the median for the data:

13,17,16,14,11,13,10,16,11,18,12,17

o Watch Video Solution

4. Find the mean deviation about the median for the data :

36,72,46,42,60,45,53,46,51,49

o Watch Video Solution



https://dl.doubtnut.com/l/_QH2rfRiokxQP
https://dl.doubtnut.com/l/_3CuVFs1CpJQQ
https://dl.doubtnut.com/l/_72k0fOJL2erl
https://dl.doubtnut.com/l/_ivS6AYK4qe5Q

5. Find the mean deviation about the mean for the data:

| x; | 5]10]15] 20] 25
EAESEIEILEDE.

° Watch Video Solution

6. Find the mean deviation about the mean for the data:

[x, [10] 30 50 70 [ 90
| f, | 4 |24 28] 16 8

o Watch Video Solution



https://dl.doubtnut.com/l/_ivS6AYK4qe5Q
https://dl.doubtnut.com/l/_6dJbqiF3XkvX
https://dl.doubtnut.com/l/_ZEgI4uBMdxWB

7. Find the mean deviation about the median for the data in

x;, 5 79 10 12 15
£, 86 22 2 6

o Watch Video Solution

8. Find the mean deviation about the median for the data

in
x; 15 21 27 30 35
£ 3 5 6 7 8

o Watch Video Solution

9. Find the mean deviation about the mean for the data in

315 Razdll 2048 | 0-100 | 100-200 | 200-300 | 300-400|400-500 | 500-600 | 600-700 | 700-800

il v 4 8 9 10 7 5 4 3

| o |


https://dl.doubtnut.com/l/_49FL8DGfFuVx
https://dl.doubtnut.com/l/_CJuuboEYFOB0
https://dl.doubtnut.com/l/_kvYqWdTdy480

l & Watch Video Solution ]

10. Find the mean deviation about the mean for the data :

Helght in cms. | 95-105 |105-115 115-125 125-135 | 135-145 | 145-155
No. of Boys L) 13 26 30 12 10

o Watch Video Solution

11. Find the mean deviation about median for the following

data:

‘Marks | 0-10 |10-20(20-30[30-40[40-50|50-60
Number

ofcli | 2| @ |14]18]| 4|2

o Watch Video Solution



https://dl.doubtnut.com/l/_kvYqWdTdy480
https://dl.doubtnut.com/l/_C0eCVPY4csSt
https://dl.doubtnut.com/l/_8xK8HsNgvrAq

12. Calculate the mean deviation about median age for the

age distribution of 100 persons given below:

Age. | 16-20(21-25(26-30|31-35 36-40 [41-45 [46-50] 5155
No.| 56 [ 6 [12 |14 |26 [12 18] 9

o Watch Video Solution

Exercise 15 2

1. Find the mean and variance for each of the data :

6,7,10,12,13,4,8,12

o Watch Video Solution



https://dl.doubtnut.com/l/_wGz1KLPBYVAJ
https://dl.doubtnut.com/l/_mn1iqwPzGVvq

2. Find the mean and variance for each of the data:

First n natural numbers .

o Watch Video Solution

3. Find the mean and variance for each of the data:

First 10 multiple of 3.

o Watch Video Solution

4. Find the mean and variance for each of the data:

.rlﬁlﬂllilﬂz-lzﬂ.'iﬂ
-2 1 & 7121 8:F & 3

° Watch Video Solution



https://dl.doubtnut.com/l/_Sl4p2yoMBU80
https://dl.doubtnut.com/l/_8gwcLdnuwG85
https://dl.doubtnut.com/l/_Rl7d6sSfKmP7

5. Find the mean and variance for each of the data :

[ | 98 | 102] 104] 109
|f, |3|2[312lﬁ 3] 3

o Watch Video Solution

6. Find the mean and standard deviation using short-cut

method:

x; | 60| 61|62 63|64 |65)|66|67| 68
fil2]1]12|29|25]|12|10| 4 | 5

o Watch Video Solution



https://dl.doubtnut.com/l/_Rl7d6sSfKmP7
https://dl.doubtnut.com/l/_RugLjXGnQdJ0
https://dl.doubtnut.com/l/_Ux9vp0nSKpkL

7. Find the mean and variance for the following frequency

distributions in

93| 0-30| 30-60|60-90| 90-120| 120-150{ 150-180| 180-210|

wugl 21 3| s 10 3 5 )

o Watch Video Solution

8. Find the mean and variance for the following frequency

distribution :

Class |0 -10[10-20[20 - 30|30 - 40|40 - 50|
Freq, 5 8 15 16 6

o Watch Video Solution



https://dl.doubtnut.com/l/_7OQ2zp5DcuCS
https://dl.doubtnut.com/l/_rpV5k4w9K9jF

9. Find the mean, variance and standard deviation using

short-cut method

Glaus  [70-75 | 75-80 | 80-85 [85-90 |90-95 [95-100|100-105 |105-110 [110-115
Al

gl [ 3| 4 7 7 15| 9 6 6 3
vl

o Watch Video Solution

10. Find the mean, variance and standard deviation using

short-cut method

-

eyly 3336 | 3740 (4144 | 4548 49-52

aguill vt | 15 | 17 21 22| 25

Calculate the standard deviation and mean diameter of the

circles.

I o Watch Video Solution


https://dl.doubtnut.com/l/_G7CC3QLB9AuK
https://dl.doubtnut.com/l/_J5U5qcJcK1NZ

1. From the data given below state which group is more

variable, A or B?

8L 10-20 | 20-30 | 3040 | 40-50 (50-60 (60-70 | 70-80

A A 9 17 | 32 | 33 |40 |10 | 9

H4e B 10 20 30 25 43 15 7

o Watch Video Solution

2. An analysis of monthly wages paid to workers in two
firms A and B, belonging to the same industry , gives the

following results:


https://dl.doubtnut.com/l/_J5U5qcJcK1NZ
https://dl.doubtnut.com/l/_bP34v85w4OQI
https://dl.doubtnut.com/l/_rkvzuhs9viZF

Firm A |Firm B
No. of wage earners 586 648
Mean of monthly wages T 5253 | ¢ 5253
Variance of the distribution 100 121
of wages

(i) Which firm A or B pays larger amount as monthly wages?
(i) Which firm , A or B, shows greater variability in

individual wages?

o Watch Video Solution

3. The sum and sum of squares corresponding to length x
(in cm) and weight y (in gm) of 50 plant products are given

below:

50 50 50 50
Y w; =212, a2 =902.8, Y y; =261, » y? = 1457.6
1=1 1=1 1=1 1=1

Which is more varying, the length or weight?

° Watch Video Solution



https://dl.doubtnut.com/l/_rkvzuhs9viZF
https://dl.doubtnut.com/l/_OOYwmSOWtj47

Miscellaneous Exercise On Chapter 15

1. The mean and variance of eight observation are 9 and

9.25, respectively. If six of the observation are 6,7,10,12,12 and

13, find the remaining two observations.

o Watch Video Solution

2. The mean and variance of 7 observation are 8 and 16,
respectively. If five of the observation are 2,4,10,12,14 . Find

the remaining two observations.

° Watch Video Solution



https://dl.doubtnut.com/l/_OOYwmSOWtj47
https://dl.doubtnut.com/l/_4ngAeeOGXfAn
https://dl.doubtnut.com/l/_FdGsQEwVMMFL
https://dl.doubtnut.com/l/_E5J2b6fO5Qd3

3. The mean and standard deviation of six observations are
8 and 4, respectively. If each observation is multiplied by 3,
find the new mean and new standard deviation of the

resulting observations

o Watch Video Solution

4. Given that # is the mean and o2 is the variance of n
observation 1, 9, ...x,. Prove that the mean and o?is

the variance of n observations axq, axs, axs, .... ax, are

aZ and a’o?, respectively, (a # 0).

o Watch Video Solution



https://dl.doubtnut.com/l/_E5J2b6fO5Qd3
https://dl.doubtnut.com/l/_NSpebtalAuzZ

5.The mean and standard deviation of 20 observations are
found to be 10 and 2, respectively. On rechecking , it was
found that an observation 8 was incorrect . Calculate the
correct mean and standard deviation in each of the
following cases:

(i) If wrong item is omitted.

(ii) If it is replaced by 12.

o Watch Video Solution

6. The mean and standard deviation of marks obtained by
50 students of a class in three subjects , mathematics,

physics and chemistry are given below:


https://dl.doubtnut.com/l/_Dq4pJCQS2KDa
https://dl.doubtnut.com/l/_DmpHEni6RaWQ

Subject Maths | Physics |Chemistry
Mean 42 32 40.9
Standard

= 12 15 20

Which of the three subjects shows the highest variability in

marks and which shows the lowest?

o Watch Video Solution

7. The mean and standard deviation of a group of 100
observations were found to be 20 and 3, respectively. Later
on it was found that three observations were incorrect,
which were recorded as 21, 21 and 18. Find the mean and
standard deviation if the incorrect observations are

omitted.

° Watch Video Solution



https://dl.doubtnut.com/l/_DmpHEni6RaWQ
https://dl.doubtnut.com/l/_SznGLq82ft9n




